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RBW 3 MHz Delta 1 [T1]
* VBW 3 MHz 0.06 dB
Ref 117 dBuV “Att 20 dB SWT 100 ms 90.200000 ms
Marker 1 [T1]
110 10D.66 dBu
1.4p0000 ms
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Center 2.44 GHz 10 ms/
RBW 3 MHz Delta 1 [T1]
*VBW 3 MHz 0.62 dB
Ref 117 dBuv * At 20dB SWT 20 ms 10.040000 ms
Marker 1 [T1]
110 99.96 dBu
7.3R0000 ms
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RBW 3 MHz Delta 1 [T1]

*VBW 3 MHz -0.05 dB
Ref 107 dBpVv * Att 10dB SWT 5ms 510.000000 ps
Marker 1 [T1]
| 100 . 95.45 dBu
1.680000 mg
90
80
70
160
1 50
40
NI AVET L VUNTINENT WW«JMWWWWMWWW
30
20
10

Center 2.44 GHz

500 ps/

3DB



